TRELLEBORG INDUSTRIAL AVS

TRELLEBORG

Fluid Mount

Technical Drawing

21100

M16.0 - ]
30
| = e 1 345
[ | i
(I—L_ _____ 1 __ _r’m -! 110.0 1300
814
——— - ————~ 15.0 \.@ 12.0 4 PLACES

Product Data

MAX LOAD MAX BOLT
PART No. (kg) TORQUE (Nm)

19-0246-1 20-01105 50 150 45 M16 STUD 260 4
19-0246-2 20-01496 50 150 90 M16 STUD 260 4.1
19-0246-3 20-01497 50 150 30 M16 HOLE 260 515
19-0246-1 20-01498 100 200 45 M16 STUD 260 4
19-0246-2 20-01499 100 200 90 M16 STUD 260 4.1
19-0246-3 20-01500 100 200 30 M16 HOLE 260 39
19-0246-1 20-01104 150 225 45 M16 STUD 260 4
19-0246-2 20-01501 150 225 90 M16 STUD 260 4.1
19-0246-3 20-01502 150 225 30 M16 HOLE 260 39

N4

TRELLEBORG

WWW.TRELLEBORG.COM/ANTI-VIBRATION-SOLUTIONS
For further information visit our website or e-mail industrialavs@trelleborg.com

The content in this datasheet was correct at the time of printing, but is subject to change without notice.



